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324 IT= 3RS (I LHAIITH ¥ =r7?
A TET RIS B, REFS | IO
C. e sfee gom D, Age ofas e
E. Rmf sfas gw5g
‘gewrt WY IfFE R -9 fREm’ &=
FRCT (IR Fefs?

15.

A. SfgFaeer qt B. S9mitw 9t C. ¥ =
D. sfgsare 33 E. 39 Ut

16. ‘R’ =
A. T B. &= C.5 3
D. <= E. sita

17. ‘SRt =% (N ST (AT GTIR?
A. SIRf7 B. w5 C. 33>
D. &% E. ey

18 31E ARy SiRerEn’ Tarfars & ofie &7

A. 93v7 fuise B, IFETcH s
C. 7w J&redl 9t D. ewe byt

E. 3dm=12 313
19. STARS (I AT?
A. T TIYIRT B. 3gdiR C. fee
-+ D. 59% SeoFT E. fae;
20. ‘fZ=’ =irwa A5 A% Rvw (FRfG?
A. FR+sea B. fRw+sve C. frm<T
D. Rt+wios E. fZu+w59

Answer Keys: 1.B 2E 3. A 4A 5B 6.E &
8.A9E10C11.C12C13.D 14D 15C1
17.B 18.B 19.D 20.B

ENGLISH

Read the following passage and answer (questions -
We know that all species are important

maintaining ecological balance. If one is lost ®
whole natural environment changes. In order
protect the environment from being spoilec.
should protect our wildlife. The good news is ®
many countries are now taking action to
their endangered wildlife. George Laycock.
of several books on wildlife, writes: Manking
develop a concem for wild creatures
determination that the wild species will not
We should save the earth’s wild creatures to
ourselves. To be kind to animals is to be i
mankind.

01. Ecological systems are usually :
A. sustainable B. naturally beautifu

C. constant D. stable equilibrium

E. changing over time

Why are countries now talking actms
protect their endaﬁgered wildlife?
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03.

07.

08.

09.

10.

11.

A. to protect the forests

B. 1o protect the food chain

C. to protect the environment

D. 10 protect natural beauty
E_ to protect the diversified wildlife
Vi hat de 22 mean by ‘ecological balance’?
A Balaoce of nature  B. balance of wildlife

C selance of forests D. balance of mankind
£ Baliance between mankind and wildlife
What can we achieve by ‘being kind to
amsmals’?

A protect wildlife B. save ourselves

C_ diversify D. preserve natural forgst
E_bring a balance
Mankind must develop a concern for
wildlife creatures save themselves.

A.to B. for C. by
D. of E. despite
Fill in the blanks with appropriate words

(questions 6-11):

In such a grouping, a wide range of
talent must be expected.

A. formal B. healthy

C. heterogeneous D. casual

E. homogeneous

The type of clothmg people wear tells others
a lot about
A. what they are
C. who are they

E. when they are
Clothing made by Bangladeshi workers are
by millions of consumers around the
world.

B. who they are
D. they are

A. clad B. wore C. dressed
D. worn E. wrapped
He gave up —— cricket when he got
married.
A. of playing B. playing C. to play
D. play E. played :
I wish I —— a queen.
A. was B.is -~ C.are

- D. am E. were |

They remain compared to other
citizens with higher levels of unemployment

and lower wages.

B. advantaged
D. disadvantaged

A. disadvantage
C. advantageous
E. disadvantegous

12.

13.

14.

15.

16.

17.

18.

19.

20.

Choose the correct prepositions (questions 12-17):

We often go for fishing the river.

A.on B.in C. inside
D. around E. of

Which of the following words is spelt
correctly?

B. exagerate C. exaggerrate
E. exeggerrate

A. exaggerate
D. exeggerate

I am writing this essay —— blue ink.

A.in B. with C. by

D. from E. on

The synonym of ‘sever’ is:

A. cut B. harm C. mischeif
D. unite E. extreme

The antonym of ‘divulge’ is:

A. reveal B. reprimand C. admonish
D. conceal E. cure

Cyber attacks are much easier to carry out
than to defend
A. against B. about
D. at E. down

Select the correct passive form of: We insist

C. after

on punctuality in this office.

A. It 1s to be insisted that punctuality should be
in this office

B. Punctuality should be insisted in this office
C. Punctuality be insisted in this office

D. Punctuality is to be insisted on in this office
E. Punctuality is insisted on in this office

Find the correct sentence (questions 19-20):

A. The intruder stood quietly for few moments.
B. The intruder stood quietly for few time.

C. The intruder stood quietly for sometimes.
D. The intruder stood quietly for moments.

E. The intruder stood quietly for a few moments.
A.IfI find a bag in the stitet, I take it to the police.

B. If I find a bag in the street, I took it to the police.
C. If] find a bag in the street, I would take it to the police.
D. IfI find a bag in the street, I will be taking it to the police.
E. IfI find a bag in the street, I had to take 1t to the police.
Answer Key: 1.E2.C3A4B5A6C7B8D
9B10E11.B12B13. A14A15A 16D 17.A

18.E19.E 20.A
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ACCOUNTING

zmmwvgzwﬁnmﬂm&mm
&2 &= o 000 5T, cavncaﬁsmm>wrﬁms
T == owe o9l (3 o) ¢ R Sifdte
gzTea 3 wweE oiaal fas@e: (The balance in

the prepaid rent account Dbefore
adjustment at the end of the year is Tk.
32,000, which represents four months’ rent
paid on December 1. The adjusting journal
entry required on December 31 is:)

A sTor ¥ R (oRB 38,000 BRI, wfAN
sw=z wsre] TR (@feh 38,000 o1& (Debit
rent expense Tk. 24,000; credit prepaid rent
Tk. 24,000)

B. sy 2ms s[ut i (oS b,000 Bt STt I96
TR (&G b,000 B (Debit prepaid rent Tk.
8.000; credit rent expense Tk. 8,000)

C. WWWW@NWQSOOOW )|V
%35 R (@FfE 28,000 Bt (Debit prepaid rent
Tk. 24,000; credit rent expense Tk. 24,000)

D. Sfet I35 FAR (©fJ6 b,o00 BT, A7 o9l

&7 (@ f% v,000 B131 (Debit rent expense Tk.

8,000; credit outstanding rent Tk. 8,000)

E. Sre1 335 @11 br,000 Bit; SfAW 2we ofel AR
t,ooo G (Debit rent expense Tk. 8,000;
credit prepaid rent Tk. 8,000)

@enifir Tew fas fieme 3W: (The trial
balance will balance if:)

A. &1 =1 feeR (& et confor exe Bt am Aty

(A credit posting of Tk. 525 in Accounts
Payable is omitted)

B. =1et 396 fZ510ed (ofib 8a¢ BIIR BT 8¢Q Bt

=52 ¥ =¥ (A debit of Tk. 475 as rent
expense is posted as Tk. 457)

C. FYR GITLBI (BT §,000 HIF IFRAWG
£S5 doo B! (SRS I =W (A debit posting
of Tk. 9,000 fer supplies is debited to
eguinment as Tk. 900)

D. =3 TR 93 @@ e @36 30 S W@ (An
entry for rent paid is not recorded)

E =73 TR 8y¢ TR (@ feh (nfSS: 933
== =T (A credt posting of Tk. 415 to
Accounts Payable 1s made twice)

== ‘iﬁ’raz g« Bty zrm: (The main
objective of accounting is:)

A 7= Farem waeelR @3¢ 341 (To record all
the transactions properly)

B. «=% £S9me W W1y FoAE O (Al
(To provide mformat
of an organization)

n about cash position

04.

0s.

C. IR JIRRFAWAE FaEAy o @a (To

communicate the necessary information to
interested users)

D. &fSdieTa Areeme wez fofee =t (To identify
the profitable item of the organization)

E. WerReE qrad savi fafa =at’ (To calculate
the tax liability payable to the government)
0%¢ AR S TR St @ Fox ke
GAmER A f@1 ¢o,000 BRI AL T
AR & & do,000 B FAA IR W6 4iex

fsem 4w &1 ¢oo,000 T G AAMIATHA

IMZ (ATF T I TT 890,000 BIFt | TS QA

T AW IR FA TN 0,000 BT | IRF CITE

FTAAR ARMIGR TR ¢ % TH ARFS 1 =2t T
Fdt A IRt @@ I TR? (On 1
January 2015, Bengal Foods Limited had a

balance of Tk. 250,000 in Accounts
Receivable and of Tk. 10,000 in Allowance

" for Doubtful Debts. During the year, net

credit sales and collection from accounts
receivable were Tk. 500,000 and Tk.
430,000, respectively. Bad debts written off
for the year amounted to Tk. 20,000. If a
5% allowance on ending accounts
receivable is kept, what would be the ending
balance in Allowance for Doubtful Debts?)
A. ¢,000 515t (Tk. 5,000)

B. 3¢,000 511 (Tk. 15,000)

C. »v,000 B (Tk. 16,000)

D. 3¢,000 Bt (Tk. 25,000)

E. v,000 5 (Tk. 26,000)

BT IR AT ST GUiH 3,00,000 BIF AW
G0 WFA TGN TF I@, T WY &7 X A
JRA G SARTE T ¢,000 1t | BT (U3 S
IMFT 0% YW FTRETN (G ATSTS TIBT ¢
T R | WE Gff w3 000 TIF R = ctm
TS BIFt @e A wfS 3@? (Four years ago,
Kalatia Traders purchased an office
equipment at a cost of Tk. 100,000 and
estimated its useful life of five years and
salvage value of Tk. 5,000. Since then, it
has been depreciated at 20% per annum
under the reducing balance method. If
today it could be sold for Tk. 32,000, what
would be the gain or loss on this sale?)

A. =18 000 131 (Tk. 8,000 gain)

B. @A 9,5b0 511 (Tk. 3,960 loss)

C. TAE b,552 B3t (Tk. 6,912 loss)

D. @AM b,5%0 B (Tk. 8,960 loss)

E. &S 39,000 13t (Tk. 13 QOO gain)

bb
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06.

07.

08.

09.

czz e Ror @Rty w oifsen
=ex= %%’ (Financially, shareholders are

rewarded by:)
A =3 =% (net profits)

o™ (dividend)

fe&= *7=< T3 (cost of goods sold)

e A
¢
S
L
1
p
/

— ~ .y
-

o :avﬂﬁa @3 AfS Ry o1, a3z ofS
rTrE=Zw ¥ 6 (Vo FT [T I[WTEHFW d0 513,
=3 3= 8 VY8000 BIF| HY ooo BIF JAIF
=== TACS BIRE IS UIF ] [ew ;e T?
(The selling price per unit, variable
gxpense per unit, and total fixed costs for
the year of Taranagar Company Limited
are Tk. 120, Tk. 72, and Tk. 384,000
respectively. How many units will have to
be sold in order to earn a target profit of
Tk. 96,0007?)

A. br,000 28«5 (8,000 units)

B. ¢,999 T8G (5,333 units)

C. 9,300 235 (3,200 units)

D. 8,000 285 (4,000 units)

E. Yo0,000 285 (10,000 units)

a6 @EPifar s [ @ m s
waraream?  (Which of the following
information is unnecessary to determine
the breakeven point of a company?)

A. 3 313 (Fixed cost)

B. sffas~=ta 37 (Variable cost)

C. =t wig (Price of the product)

D. w8 &% (Contribution margin)

E. 7TC 57 (Average cost)

e e 2dfss Tow=y =r: (The primary

objective of the matching principle is to)

A. T[ENIA e oA 43I F41 (provide full
disclosure)

B. @H TRIIER W WO T [T T
JI5(F WWe& 341 (record expense in the period
in which related revenues are recognized)

C. U} TSI 7Ie O &wia F41 (provide
uumely information to decision makers)

D. &fey wwmsiter Sfde faaafe g oa= =4
(promote comparability between financial
statements of different periods)

E. ReH@ey o gme 34 (prov1de material
1nformat10n)

10.

11.

12.

13.

A @R SedimA-arn o Rese Soe=g?
(Which one is an objective of Cost

Accounting?)
A. T8 7 %9 (Cost preservation)

B. 7@ 57738 (Cost coordination)

C. I13&= (Cost reduction)

D. 373 f&dtz (Cost incurrence)

E. 353 fag®4 (Cost control)

WAGLAR &) ANEY |1 T A Aesw @R v
%e?? (If an adjusting entry for depreciation
is not made, which of the following will be
true?)

A. 3716 1 MM (Assets will be understated)
B. s ¥9 ™™ @RI (Owner’s equity will be
understated)
C. % 7@ I R (Net income will be understated)
D. 35w 1 AN (Expense will be understated)
E. 713 & @32 (Expense will be overstated)

¢o,000 Bt FTf=tq ANeHT (SITE TR WY wo,000
Bt S LT TN | I$AIN IGEAT T AT
Tieant (FRHB? (Commission received Tk.
50,000 of which Tk. 30,000 is for the next
year. Which is the correct journal for the
current year?)

A. S T (©RE 90,000 T FHF IT®
RIY 0,000 BIF; TIW (FE6 ¢o,000 BIA
(Prepaid commission debit Tk. 30,000;
Commission expense debit Tk. 20,000; Cash
credit Tk. 50,000)

B. f*" ¥ (SfRG ¢o,000 BIF; W (GO
¢o,000 G (Commission expense debit Tk.
50,000; Cash credit Tk. 50,000)

C. =% (A6 ¢o,000 BIF! IAT W (GO
¢o,000 Trd  (Cash debit Tk. 50,000;
Commission income credit Tk. 50,000)

D. ™M k6 ¢o,000 BRI T =W @S
30,000 Gt SFofer® Ffew (&G wo,000 B
(Cash debit Tk. 50,000; Commission income
credit Tk. 20,000; -Unearmmed Commission
credit Tk. 30,000)

E. 7% (SfIT ¢o,000 B Sgaifers R s
¢o,000 B3t (Cash debit Tk. 50,000; Unearned
Commission credit Tk. 50,000)

o REimr @m WS @rafar [y ez
Tfdfe wagl wemt IACS AYY F@? (Which
accounting principle helps comparison of
accounting and financial condition of
companies over time?)

A. ISl (conservatism) -

B. @&= (accrual)

C. vaw &f$¥1 (going concern)

D. J=m&T (consistency)

E. &f¥@er (materiality)

J -
-
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WA @R do,00,000 TIFR &MelT ATATE T O¢o

757 (D IR At SR e (38 w17

14. 19.
e wvg arp) o ewffe z3:  (Alpha (Which one of the following is not a
foo(‘)‘(‘)P&;lg’ d:llzs I.‘jg(t)ecsla;:effm);;pizr 0};‘; qualitative characteristic of accounting
. r information?)
A Wm beit® = KA (balance sheet as A. T3 7Ryt faresd (Cost Benefit Analysis)
current asset St (Timel
B. ¥5s it ~ w413, (balance sheet as B. 74t (Timeliness)
fixed asset) C. af%aet (Materiality)
C. Sgata veife v farsite (balance sheet as D. w1 (Comparability)
current liability) | E. @ga5gel (Understandability)
D. = fewadis 3w KA (income statement as 20, . 3fystre =M Yo% T 3,00, 000 BT e,
an expense . _ T AR
erig%m w1y fErste (mcome statement as :fg%{lf ;go;;;ﬁmf:?::;m; :mg
15, @AM oW TP T @ FoT @B WBE? W AR o SRS B A 380,000 BrA
- (Which one will happen after issuing bonus LB ISR cﬂmmgaﬂct P T B
share?) I TS NA? (Barigaon Company has
A. TFeES 3% 2 (owner’s equity will increase) 10% debentures of Tk. 100,000, 12%
B. MR 792 @ (owner’s equity will decrease) preferred shares of Tk. 200,000 and 50,000
C. wifFmTe weiafee I (owner’s equity common shares of Tk. 10 each. If the after-
will remain unchanged) | tax net income of the company is Tk
D. 37m 3fd 22 (asset will 1ncrease) 150,000, what is maximum amount of
E. 3™MI AT (asset will decrease) dividends the common shareholder can get?)
16. ‘@ISR WFARAEG R&FW @ Q@R TW AIR? _A. 3,&0,000 511 (Tk. 150,000)
(What k1£1d~ of cash flow is the ‘sale of old " B. 3,2u,000 B3t (Tk. 126,000)
furniture’2) . C. 3.5%,000 51 (Tk. 116,000)
A. “faprE=gs (Operating) ~
B. ﬁﬁmm (Investmg) D. o, 000 1963 (Tk 136,000)
C. w§r#=3 (Financing) E. ,38,000 513 (Tk. 124,000).
D. A 932 B (A and B) Answer Keys: 1.E 2.D3.C4B 5D 6B 7.E
E. A, B 932 C (A, B and C) 8E9.BI10.E11.D12.D13.D 14A15.C16.B
17. cnzs e fmam gl wfiqm I3t Q00 SFATS 17.D 18.D 19.A 20.B
WS IBR A | AR 5/8 ST TFA TBA W . MANAGEMENT
RO @rmin F@ ) CTES, BPRm e R () ayagremre e 7w @=B? (Which one is not
T/ IV TPF TS FS? (Sourav and the Principle of Management?)
Siam are two partners who have their A. =1dRem (division of work)
profit/loss at the ratio of 2:3. Sayan joined . .
the business as a partner for ' share. What B. GITE?C*RI T (ulllty of comx/nand) - ,
is the new ratio of sharing profit/loss among C. sidzfrst ¢ Fwwet ¢ Frwwe! (effectiveness
Sourav, Siam and Sayan?) & efficiency)
A. 2:9:8 (2:3:4) B. 35 (1:1:1) D. === (order)
g 0:¢:5 g g 491; D. ¢:5:¢(6:9:5) E. framafet (discipline)
¢:br.8 : " W - :
18. XYZ &@=f] 3,00,000 31?51 et ARATNTER &) Vs st . S 3@‘% o =2 (Which
of the following document is known as the
cwwmnawﬁﬁmﬁw—ﬁs—am : TIS
*53? (XYZ company issued shares of Tk. blueprint of th_e B eauZaton)
100,000 for repayment of loan. What will A. G (Ordman,ce.) ~ o
be its effect on accounting equation?) B. #ffstwat frasafa (Articles of Association)
A. 5™>m ¢ TfFdETg @ (Increase in Asget C. faaaa=@ (Prospectus)
and Owner’s Equity) D. =3afaf4 (Memorandum)
B. 3=W @ v Jfa (Increase in Asset and Liability) E. wiefwifd pfF (Partnership Deed)
C. 7 3 @ TR (Increase and decrease in Liability) 3 zoteets fimiees (o iz wess =1t 22 (Pension
D. WS & e W 2 (Increase in - Insurance Scheme is categorized as)
Owner’s Equity and decrease in Liability) A. liability insurance B. life insurance
E. vfsrtg 3@ o W ?{ﬁii (Increase in C. property insurance D. personal insurance
Owner’s Equity and Liability) E. social insurance
b Ye)

~
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04. Fitsa =S wsTE WRATACE AW 74?7 (Which

one of the following is not a component of
business emvironment?)

A =¥="== == (economic forces)

B. =x7= = == (technological forces)

C. ==i=s == (Psychological forces)

D. 3=+ = (inflation)

E_===f= (labor force)

= =ows O T FUAAE I IR (SIS ZLR-

(Ih asset that makes other assets effective is-)

A &% (land) B. 374 (capital) :
C. =% (money) D. I=1 57Mm (human resource)
E_=5f% (technology)

6. Sz R AT IF RfE T 71?7 (Which of

07.

08.

10.

the following is not sold by Central Bank?)

A. commercial paper B. ﬁxed deposit receipt
C. banker’s acceptance D. treasury bill

E. certificate of deposit

NSy OEgd  A¥ee  @? (Who s
proponent of the theory of bureaucracy?)
A. @ 5fFe. (5251 (F.W. Taylor)

B. =@ @e=t (Henry Fayol)

C. Tir® 8™ (Max Weber)

D. g8 &% (Hue Grant)

E. @@z w5t (Abraham Maslow)

TINT =W IRIMR 538 71 ¥ fer? (Human
Resource Management was previously known
as-)

A. GreRifNEETe TiEEwES (Adrmmstratlve
Management)

B. #1e mitaseS (Functional Management)
C. Rewrm 35 Wie® (Human Capital
Management)

D. ArReiEs wittAeen (Personnel Management)
E. si2f5fra witasea® (Scientific Management)
I A It S getgm Fw@? (Which organization
sets the monetary policy of a country?)

A. Ministry of Finance

B. The central govemment

C. Central bank

D. National Board of Revenue

E. National monetary authority

=% Rfrr Pfde e Afvem ofm
4wy Tw  ofasEs FTS W1 (The
minimum number of directors in the Board

the

of Directors of a public limited company is
.) ,

A2 B.3 C.4

D. S E.7

11.

12.

13.

14.

15.

16.

17.

TR cuitesy wei Fsn @ e
Toame? (Which of the following is a

motivation factor according to Herzberg’s
theory of motivation?)
A. @A (salary)
B. si&faa faar9rat (job security)
C. Ataraf$3 Jramt (opportunity for advance)
D. ¥{-Afatat (working conditions) .
E. &3 et 799 (peer relationship)
teifae Y[R &"F &? (Who is the father
of Scientific Management?)
A. aF ofgl G3== (F.W. Taylor)
B. t=af@ (&%= (Henry Fayol)
C. % a% w117 (P. F. Drucker)
D. fo. miztasta
(D. McGregor)
E. i #3315 (R. Likert)
“JNET” —— AfFFEaE 93 BHigat | (Budget
is an example of plan.)
A, W (long-term)
B. sgta (middle term)
C. a3a (single use)
D. ¥R (standing)
E. S19R% +AR%EA! (master) |
Ittt fofaee v g =$S? (Sugar mills of
Bangladesh belong to which corporation?)
A. Rfsizf (BCIC)  B. Resaaf (BSMC)
C. Rewawizf (BFAIC) D. Retazsizfi (BSFIC)
E. fafefees (BDBL) '
IR IR (NS 77?7 (Which one is not

a basic principle of management")
A. *iif%fF (remuneration)

B. #j3=1 (order)

C. @RIz (decentralization)

D. 314 fRett (division of work) |

E. ©ta (initiative)

YIRS wEel e AT (Conceptual skills

mean:)
A. A& &F (social knowledge)

B. a1erAfa @i (political knowledge)

C. fo8R =9 (thinking ability)

D. ¥1@ & ®IF (task related knowledge)

E. TR+f$e wi= (economic knowledge)

R BIRA AN BgA #vss T@: (The
Need Hierarchy Theory of motivation was
given by:)

A. & (Herzberg)

Admission Tech



Admission Tech

18.

19.

20.

01.

02.

03.

B. SIQR™ Ite (Abraham Maslow)

C. T 1699 (Douglas McGregor)

D. f$83 &3 (Victor Vroom)

E. csfew 5. miretene (David C. McClelland)
“FIA (I IR G @RI TS F1R-9 IR

A GTSIFA T6AT IR

and where we went to go

between the two is-)

A. faer=A1 (direction) B. (799 (leadership)

C. »fe@gat (planning) D. ff¥@4 (controlling)

E. 527187 (organization)

fAsr 3 “9¥ 8" G “eTIR 5" Y2t S4IET?

(Who is the pioneer of “Theory X” and

“Theory Y”’?)

A. IRIRIT THEA (Abraham Maslow)

B. TR e« (Douglas McGregor)

C. B3 f& ¢ (William G. Ouchi)

D. c=. ©fg®. e&sd (J. W. Newstorm)

E. f$%2 &% (Victor Vroom) |
WA AR AR wWirwHemr (vt @

o ARFR T T@? (Which district of

Banglédesh is called the pioneer In

cooperative movement?)
A. o131 (Dhaka)

C. ¥=1 (Khulna)

E. 2@ (Comilla)
Answer Keys: 1.C2.C 3B 4.C 5D 6.A 7.C
8D9.C10B11.C12A13.C14D 15.C 16.C
17.B 18.C 19.B 20.E

Finance
Which of the following is not a source of
short-term financing? (fAt53 =6 T9 cofw
s T FR?)
A. Trade credit B. Transaction Loan
C. Retained Eamings D. Treasury Bill
E. Line of Credit
To whom the right shares are issued? (Ftes
725 AL 1 TP TN X?)
A. Potential shareholders B. Sponsor directors
C. Existing shareholders D. Management
E. Elected directors |
Which of the following securities has prior
on income and assets? (Rma v FfFeffits
WY € FootAR Bon wifda Feare?)
A. Ordinary share B. Debenture
C. Preference share D. Bonus share
E. Bond

| (Where we are
the bond

B. 2299 (Rangpur)
D. f5z=1% (Sylhet)

04.

0S.

06.

08.

09.

10.

11.

12.

Which of the following asset has the highest
liquidity? (R @R F=9ima Sizey 7RGE &)

A. Share B. Bond C.FDR
D. Inventory E. Treasury bill
By whom the Insurance companies are

regulated in Bangladesh? (et I
cFrfa T ot faafes <@?)

A. Insurance Development and Regulatory Authority
B. Bangladesh Secunties and Exchange Commission
C. Bangladesh Bank .

D. Insurance Academy

E. Microcredit Regulatory Authority

Which is the most important item reported
in the Income Statement that shows the
results of operations during the past year?
(e IR TG FAFA I WIT-TF
Rmafin w Reafd v o d?)

A. Gross profit after tax B. Net profit before tax
C. Net profit after tax D. Earnings per Share
EA&D

Which of the following is not a cash outflow for

. a firm? (T ARBBIF & i AR 2R 7A7)

A. Dividends B. Interest payments

C. Taxes D. Depreciation E. Utilities
How will the risk premium be if R, < R;? (R,
<RT® I fatffmm ceam 7@?)

A. Positive B. Negative - C. Zero

D. One E. Equal

Stock Exchanges of Dhaka and Chittagong
were established respectively in: (570 @3r
5541 BT qAce RS ez Affe o)

A. 1972 and 1998 B. 1955 and 1994
C. 1954 and 1995 D. 1976 and 1999
E. 1956 and 1996

Which one of the following is an institute

under the Financial Institutions Act, 1993?
(Frea @G yss0 At FarAtme TRGHT-m

HRAR W 9F0 AFEDRT?)
A. Sonali Bank Ltd.

B. United Leasing Company Ltd.

C. Exim Bank Ltd. D. Uttara Bank Ltd.
EB&C ‘

Which one of the following is not a long-
term financial instrument? Rz =R
e wifds wiom 717?)

A. Common Stock B. Commercial Paper

C. Preferred Stock D. Mortgaged Bond

E. Debenture

D

~—
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13.

14

16.

17.

18.

19.

Which one of the following institutions is a
major player in the money market? (fazs%
== =P ! ISR G0 TR HHLZAHA?)
A S:iock Exchange

B Commercial Bank

C_Development Bank

D Non-Bank Financial Institution

E Specialized Bank

Due to diversification of portfolio, the risk
. (cAETIfre tafcatamz o IS
A Increase to some extent

B. remains the same

C. increase significantly

D. reduces E. is not a affected

A savings account earns 4%. If the saver is
in a 28% tax bracket, the after tax rate of
return on savings would be - percent.
(936 vemw AT I T 8% | nfg Gel. o
FAeAIINT AT TR W% IR I foires zm, o
AET T FA-2IATSf WA ST A X T ——)
A. 28.0 ‘B. 16.72 C.4.0

D. 2.88 E.1.12

Which of the following is not a feature of a

Bond? (fAtsa =i=fo 3gez 3l au?)
A. Indenture Agreement B. Protective Covenants

C. Principal D. Residual Claim
E. Coupon -

Approximately, how many companies are -

listed in Dhaka Stock Exchange Ltd. right

now? (ISAA JENACT CRNT IR SfoFes
AR A1 o TOH7)

A. 3,000 B. 1,300 C. 300

D. 1,000 E. 2,550

Which one is a hybrid security? (=6 =
fseRit?)

A. Treasury Bill B. Bond

C. Stock ~ D. Repurchage Agreement
E. Preferred Stock

Which annuity requires payment to be
made at the end of each period? (@R &=
S M ceiea Aoy TAeS T|W7)

A. Annuity Due  B. Ordinary annuity

C. Growing annuity D. Perpetuity

E. Growing perpetuity

; Risk of a single asset is usually measured by

which of the following? "z F=F T o=
I <z T2t w2 |

A. Variance - B. Standard deviation

C. Coeffticient of vanation D. Correlation

E. Covanance
Answer Keys: 1.C2.C3E4ES5A6.C8D

9B10.C11.B12B13.B14.D15.D16.D 17.D
18E19B 20.B £

01.

02.

03.

04.

0sS.

07.

08.

C. & (Relationship)

Marketin
BLIE T 2 astzmﬁ e  Temea
“SITiRT™ 3 et ]A- (As a large-scale retailer,

‘Agora’ of Bangladesh is called-)
A. fe215a% 513 (Department store)

B. 3=t ot (Mulitiple store)

C. 37 511 (Chain store)

D. =7 *91 (Super shop)

E. 3712 TtET (Super market)

TMEB2 97 4P’s 93 &=<F &7 (Who is the father
of 4P’s of Marketing?)

A. %5 @Rs (Neil Borden)

B. 2.@&. & (E. J. McCarthy)

C. f.c&. (sawa= (P. J. Verdoorn)

D. f#fa% 3= (Philip Kotler)

E. tafex &= =@ (Kelvin Lane Keller)
et @R @@z d9R? (Which type of
promotion is ‘Advertising’?)

A. 3f& (Personal) B. 18%f%a (Nonpersonal)
C. 71y (General) D. fat=w (Special)

E. @ota (Publicity)

faon Rl IrErEreTaeR aiffe f&f$? (Which
one of the following is the fundamental base

of Marketing?)
A. {3 (Exchange)

B. R (Selling)
D. I=ta (Market)
E. ®esms (Production)
frsta dfeam aen it FRHB? (Which one is
the first step of Marketing Process?)

A. @St o w&A (Capturing customer value)
B. et awiEs 8 e S9¢RY (Understanding
customer needs and wants)

C. fem1+i= ares fRdtaet (Setting advertising budget)
D. Rz A o= (Orgamzmg sales force)

E. =@f® «f#met (Measiring satisfaction)
A w3 e Bwiead? (Which one is
the example of Macro-Environment?)

A. afstain (Competltors) B. &1z (Customers)
C. 7eg& (Culture) -

D. SGE3H (Middlemen) E. Sweamst (Public)
R 8w en 7w, A9 ¢fgw? (In which
stage sales reach at a peak level?)

A. 9 B8RA (Product Innovation)
B. 371 ¥7 (Introduction Stage)

C. &3fa %3 (Growth Stage)

D. =% %3 (Decline Stage)

E. @<fet @3 (Maturity Stage)

fatsz A TEFBR wnsafes Afftaen Somw=
]¥? (Which one of the following is not an
element of Macro-Marketing
Environment?)

A. RS #fata=t(Demographic
Environment)
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B. &< (Customers}~

C. #gf&re sez= (Technological Environment)
D. €=fes *2== (Economic Environment)

E. sitgfe3 *fe@= (Cultural Environment)

09. T2 == FETEE Tomal (oer &Y WivAT

=R 7= =7 (Which of the following social
factor influences consumer’s buying
pattern?)

A. 7w%e (Culture)

B. =1 &=® &= (Social Class)

C. To#ggs (Subculture)

D. At@=s we (Reference Group)

E. &<=415 (Lifestyle)

Admission Tech

15. &SItA? =N Redme @ e SomiE?

(The purchasing power of customers is an
element of which of the following

environment in Marketing?)
A. sifes (Social) |

B. sretafes (Political)

C. w<ftafe® (Economic)

D. wafafss (Demographic)
E. s+ re (Legal) |

16. RE9ERa @ Mo FiFsifFst aifua 4T3 vauis

¢itF? (Which medium of Advertisement

stays effective for a long period of time?)
A. 53w #a (Newspaper)
B. =@ (Periodical)

C. gvre@ (Leaflet)

10. ﬁt:?l casraf.%a TIYITT Lo @2 *z@stt.s %ﬁ;zrm e D. R w1 (Billboard)
27?7 (Which one of the following creates E. s (television)
possession utility in Marketing?) 17. s < ofer 00 TE 1, T, 1%, 3o, Borget
A. Iramife g (Import Trading) o taPiE; REsA! T8 SR G2 e T zE- (If at
B. 3rfeey (Commerce) the time of purchasing a product is considered
C. @3-fa@a (Buying and Selling) in terms of quality, value, price, style,
D. z&if¥ 5a=a (Export Trading) suitability and features then it is called-)
E. Bestvm (Production) - A, SIS A4y (Unsought product)
11. IR @ ST (IR FFg ¥ OISR STae e - B. fRt=ig « (Specialty product)
. | . . C. =f%i: =5 (Shopping goods)
IS A Ot - (Anything tangible and D. ®ift 7@ (Heavy machineries)
intangible that has the capacity to satisfy E. sfestema = (Convenience goods)
customers’ need is called-) 18. fiwsa RS frg =i w8y 782 (Which of the
A. Gt (Service) B. =1 (Product) following is not a characteristic of Industrial
C. vifgal (Demand) D. 3=@ (Market) Product?) X
E. 8f8 (Satisfaction) A. WSz sifgwt (Derived demand)
12. Aoz (=S 7%= @ +&? (Which one of the B. St 51t (Inelastic demand)
following is a distribution related activity?) C. sffsaes= vifent (Fluctuating demand)
A. @ (Purchase) g (TR W‘{W@T( IgLarﬁe nun;ll)er of bt});ers)
y : S . G 933 &F (Purchase of large unit
Ié: :ngz ((%::E;Ziggmmna“on) 19 ﬁrgf@;smﬁ @A @Bt wE? (Which of the
' , , . following is not a characteristic of Service?)
D. w7 (Financing) _ 7ot (Intangibility)
E. fe@a1sw (Advertisement) B. ©Rew (Variability)
13. wrpadfefesr RefEad @wHB? (Which one is the C. soweret (Perishability)
behavioral segmentation?) D. wodFad (Inseparability)
A. §=4s (Lifestyle) B. 3f&g (Personality) E. =iferist wew (Obtain ownership)
20. fATRA PR QAW Y (@A AR AW A TS
C. oMl (Occupation) D. &t (Social class) 7eate? (Which of the following products
E. $*@% (Occasion) | . involves low-price sensitivity of customers?)
14. “&" I A" @W @@F AG? (What type A. TR 24 (Cpnvemence goods)
. x s : B. =fsi %<3 (Shopping goods)
of product is “Life Insurance Policy”?) C. R =1 (Specialty product)
A fat=rg @1e7 (Specialty product) D: wmifbs =17 (Unsought product)
B. 73«1 #i¢ (Convenience product) E. 5@ =i (Emergency Product)
C. g = (Impulse product) Answer Keys: 1.D2B3.B4.D5B6.C7.ES.E
D. s@1fe® #ie5 (Unsought product) 9D 10.C11.B12.C 13 E 14D 15C 16.D 17.C
E. sna=s ety (Staple product) 18D 19.E 20.C
>8 5
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